Rapid Reasoning | Answers Year5 | Week 2 | Day2

m There are 14 books on a bookshelf. m A x 8=96
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Which of these calculations has a missing
number that is not a multiple of 62

Leah has read two of the books already.

What fraction of the books has Leah read?

C

1

7

1 mark

1 mark
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m Ria says, “If you want to round a number to
the nearest 100,000, you just need to know
the digit in the 100,000 place.”

Is Ria correct? Circle yes or no and explain

your answer.

See mark scheme

for examples

1 mark
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Requirement Mark | Additional guidance
Q1 1 2 1 Accept any other equivalent fraction.
< (orsz)
Q2 |C 1
Q3 | No. Riais not correct because the ten thousands digit 1
is also needed to know whether to round the hundred
thousands digit up or down.
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